AR AR /RE 7R 2

A| B |EB| X% =e =IE HEBE BEEE SEESEE

SURC | KRS (@) (V) “) - (@ (z) x48

9| 1 | B [ <ty | 247 | 20.1 13.5 9.9 2.0 571

2 | k| <2y | 27.3] 19.4 13.3 10.5 5.4 245

3 | Kk | <3y | 241] 200 14.9 11.2 -3.5 370

4 | K[ <3y | 259 20.5 15. 4 10.9 5.4 264

5 | & | <3y | 287 222 13.7 9.5 9.9 931

6 | £ | <2y | 30.8| 19.0 13.1 8.8 3.1 571

7 | BH | <Hy | 269 18.2 14.2 9.7 3.1 614

8 | A | <3y | 27.1| 18.0 13.7 9.8 10.9 994

9 | % ° 27.8 | 19.0 12.1 8.0 7.9 763

10 | 3 27.5 | 18.6 11.4 1.5 -1.1 307

1] K| <Hy | 255 19.9 16. 1 10.9 3.6 696

12| £ 3 26.8 | 15.0 19.4 14.3 1.3 749

13 | = ° 26.1 | 14.2 15.2 9.9 14.2 1,157

14 | B 3 28.0 | 14.8 16.5 11.0 4.5 744

15| B | <Hy | 25.3 | 14.2 14.0 10.5 4.6 725

16 | X 3 26.4 | 17.6 14.0 10.3 0.9 538

17 | K | <ty | 23.0 | 15.1 10.3 6.6 8.4 720

18 | K o 23.2 | 16.6 17.4 12.2 9.9 1,061

19 | £ o 26.0 | 13.1 14.7 10.6 6.9 840

20 | ) & 25.2 | 13.1 19.3 12.3 7.9 970

21 | H ) & 26.3 | 11.9 20. 1 14.9 5.8 994

22 | A o 25.6 | 13.5 17.7 10. 4 6.7 850

23 | k| e 25.6 | 12.6 9.0 5.4 4.1 456

24 | Kk [ <HY | 234 145 4.3 4.2 4.2 0

25 | K 3] 25.2 | 18.1 13.8 10.8 5.5 254

26 | & | - 27.1 | 11.0 15.5 10.2 12.3 1,080

21 | £ [ <HY | 23.3 ] 14.1 15.5 1.7 5.6 830

28 | H So- 27.0 | 11.9 14.1 9.3 12.1 1,027

29 | A “e- 27.4 | 14.7 15.7 10.6 10.2 998

30 | k| e 26.5 | 16.4 15.6 11.4 5.3 802

9B ast 433.5 | 303.3 m#aEes | 20,318
E% 6,96/ (BHI4E~9HT1ES)
5% - 15,504M (8B14B~9H118%)



